| Efficiency vs Dxy |
>.0.02r
<

....................................

0013— -----------------------------------------------------------------------
0,008 oo ERRRIO OUTOOS OO
0,006 oo i
01 R SR RS O S
0.002f bbb b f

J_.l.Q_llll;llll;llll;llll;lll ;IIII;IIII;IIII;IIII;IIII

098 56-15-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_TT_ongmalREDO
— —e— DQM_TT__original_option0
| Efficiency vs Dz | —— DQM_TT__original_optionl

—+— DQM_TT__original_option2
~0.05 | SMTT_prginal oo

05l
) : : : : :
5 0.04 ...........
o : : : ; :
5)035 I ...........
® 5 : : : :
0.03 R e
0.025 11150 T SR | I S
0.02 L1 T S S

0018 LA T
e [ £ S

0.005 | || RN

0 . . . . .
e

Ratio

o
©

10 2030
TP dz (cm)

|.o
o2
o

I
o

|
|
o
o



	Contents
	Page 1


